EANRAROBREIEHRT — 2 N—XBISYH —F 201846838 (A) 3@EE=2H

EE==%7 10007T ¥5%3M®E (BS) [5El &R BT
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= > B 4 | AUTR 1:37.1 1-1 37.0101.7| 5 506 | MARE (ER)
FUYFF—% 55.0 =) o) | EREE
Z:d—IWKk7U2—-)b B:HIyo4—> EEIS
9 JI| B :37. — . . FEERE (FEX)
2K IHRLT it 4 e (11 317/43) 2-2 36.8 | 100.5 | 4 (45; nga
RIVINATA—H— B:EH/Fr—1)—X BREHFBV LA/ 77— L4
oar e — JETEAS : — Fh=— (E#
L HFNT I i 5 2 1.(317>.5 6-5 36.7| 98.6 | 6 zz(s;z (;;) P S
QXL veH s/ EwE BNTY—L-—R () #EaA-—KL—va aETr
— oy = HIDa1E : - eisn (Em)
747370 (8] ke o I R RN ol T
R:2Y91 7 bHLEN BiNATU—h HERE
e N 1BKI— :37. - . . BRERE (BER)
T4 T FI— it 6 X 1(13/72>6 5-5 36.9] 97.6 | 1 (4;4) B E
LI NATA—h— B:iLTqF—4 A FHE
S S, 1@ ZHER : = REER (EH
617113 H4 T4 IR 4 6 =4 1(73{:53 11-10 36.4| 97.7 | 2 a:g;) e
L:dr—3UT7> B:TOFIMST-ZX FRESS
S e KEFRIR : = BRRE (E#
705l 9| ¥xUH 2 [B] H 5 P 1(.33;4.)7 8-8 36.6| 9.7 | 11 12(6))2 BREE
SHIRAT4ITFRX B AXAY v T4 — 55 R
T EERT : — emEZ ()
8l5lg|7oduna o6 i 1.(317).9 15-15 | 36.3| 94.9 | 13 (5_0;3) D
L:TUHSA XTI R B:oyavsX MHE E
t 6 | S. TUvit— 1:38.0 1-10 [36.8| 93.9 | 8 500 | BEFT (XH)
97[12| TR/ XHAT * 57.0 a8 © | 0 $RIR—xA =
RiN=Y54 B:EIIT HET7— L
S S 4SS 5 | FIBEX 1:38.2 6-5 374|915 | 3 500 | tIZE (RR)
10 3| VIVIN=FR T — Lid 55.0 ) 4g) | B HrF-L-—22y
:707% BE-RIST17 J—HrTr—LA
N [EAITE: TN : - FRERE (SR
1777790207 (8] "o 7 T A Il A Wioofl
LHg 2 ¥ E—-7 B:FI/ECD BR=tt 71X
3 S o, F 4 5 | ALHER 1:38.4 10-8 37.3| 90.2 | 12 | 462 |HEMEEA EH)
12 10 R=IVRT7T>T b 55.0 (7 ¢) @ | B G1L=32y
L:d—WRKTPYa—Ib B:gALRINYLY () #HBA-—KL—Ya>BETr
o B N s AEEE :38. — . . HEEE (EH)
1 o | KL KNKL— > 5 et 1(/738@5 8-10 37.3| 89.3 | 9 zzgt HEE?&?EJ
RN—VTT4 B:TF—F1iA NELEL HET7—L
kP JIHEEE :38. — . . FHIEE (ER
1alglis|@T2—FrE—D— > 8 R (173;35) 13-14 | 37.0| 89.2 | 14 (4+720) e
RL:ARN=—3I>Fh—L B:IAH1OT> RIRPOS
o= HEILFnE : = HEEE (EH)
5114 @F v TFOEY [B] o4 B 1.(3;;).9 2-2 39.5| 77.6 | 15 (432) Eﬁl[ﬂéé’ﬁ
¥y 77 byw—L B:b—trOoEr BERRE& IXF177—AL4
@ 21 L
£ 49.4-37.0
NA>ZA LA | 12.3-11.3-11.8-12.3-12.4-12.2-12.0-12.8
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 6(14,1)11,5(3,4) (2,9)10(12,13) (7,15)-8
40 —F— 6-(14,1)11(3,5,4) (10,9) (2,12,13)7,15,8
[ N5
B 6 770MH 714K 1-6 960M e E 1-4 1,450 JEE 1-4-6 6,390
8 B 6 320H 4-6 1,440H B = 1-6 2,510 JEH 6-1-4 33,650/
1 220M 1-4 730M B H 6-1 4,950
4 260M

ABICOVWTRDTEEERROODE. TR LIV,



